

[illegible]

$$\lim_{x \rightarrow 1} \frac{x^2 + ax + b}{x-1} = \frac{0}{0} \xrightarrow{\text{hop}} \frac{2x+a}{1} = 2+a = 2-a+b \rightarrow -2 = b-2a$$

$$\left[\frac{b-2a}{-2} \right] = \left[\frac{-2}{-2} \right] = [-1]$$

$$f(x) = \begin{cases} x \leq 1 & \tan \frac{(x+1)\pi}{4} \\ 1 < x < 2 & \frac{-(x+1)(x-1)}{a(1-x)} \\ 2 \leq x & b(x - [-x]) \end{cases}$$

$$x = \begin{pmatrix} 0^+ & a+b[a+1] \\ 0 & a+b[a+1] \\ 0^- & -b+b[a+1] \end{pmatrix} \quad a+b[a+1] = -b+b[a+1] \rightarrow a = -b$$

$$f(x) = a[x+1] - a[x+[a+1]] = a[x] + a - a[x] - a[a] - a = -a[a]$$

$$f(b) = -a[a]$$

$$\frac{a[a]}{-a[a]} = \boxed{-1}$$

$$\lim_{x \rightarrow a} \frac{x^Y + mx + n}{a - x} = \frac{0}{0} \xrightarrow{\text{hop}} \frac{Yx + m}{-1} = -Yx - m = -Ya - m = Y \rightarrow m = -Ya - Y$$

$$f(Ya) = \frac{Ya^Y + (-Ya - Y)(Ya) + n}{a - Ya} = \frac{-Ya + n}{-a} = 0 \rightarrow n = Ya$$

$$x^Y + mx + n = a^Y + (-Ya - Y)a + Ya = -a^Y + Ya = 0 \rightarrow \begin{cases} a = 0 \\ a = Y \end{cases}$$

$$a = 0 \rightarrow m = -Y, n = 0 \quad n - m = Y$$

$$a = Y \rightarrow m = -Y, n = 1 \quad n - m = 1Y$$

$$f(x) = b[x(x-a)] - Ya \quad a^+ \quad a^-$$

$$x=a \begin{cases} a^+ = a-\beta \rightarrow b[(a-\beta)(+\beta)] - Ya = -Ya \\ a^- = a+\beta \rightarrow b[(a+\beta)(-\beta)] - Ya = -b - Ya \end{cases}$$

$$-b - Ya = -Ya \rightarrow b=0 \rightarrow f(x) = -Ya$$

$$\frac{a}{f(b)} = \frac{a}{-Ya} = \underline{-\frac{1}{Y}}$$

$$x=0 \begin{cases} 0^+ \rightarrow -Ya^+ + 1 \\ 0 \rightarrow b \sin(\frac{\pi}{a}) \\ 0^- \rightarrow a-1 \end{cases} \quad -Ya^+ + 1 = a-1 \rightarrow \begin{cases} a = -1 \\ a = \frac{Y}{Y} \end{cases}$$

$$a = -1 \rightarrow -Y = b \sin(-\pi) = 0 \quad \text{O O E}$$

$$a = \frac{Y}{Y} \rightarrow -\frac{1}{Y} = b \sin(\frac{Y\pi}{Y}) = \frac{\sqrt{Y}}{Y} b \rightarrow b = \frac{Y}{Y\sqrt{Y}}$$

$$\frac{a}{b} = \frac{\frac{Y}{Y}}{\frac{Y}{Y\sqrt{Y}}} = \underline{\sqrt{Y}}$$

$$x=1 \begin{cases} 1^+ \rightarrow \frac{x^Y + mx - m - 1}{mx^Y - m + x - 1} \xrightarrow{\text{hop}} \frac{Yx+m}{Ymx+x} = \frac{Y+m}{Ym+1} \\ 1 \rightarrow \frac{m}{m+Y} \\ 1^- \rightarrow \frac{-x^Y - mx + m + 1}{-mx^Y + m - x + 1} \xrightarrow{\text{hop}} \frac{-Yx-m}{-Ymx-1} = \frac{Yx+m}{Ymx+1} = \frac{Y+m}{Ym+1} \end{cases}$$

$$\frac{m+Y}{Ym+1} = \frac{m}{m+Y} \rightarrow m^Y + Ym + Y = Ym^Y + m \rightarrow m^Y - Ym - Y = 0 \rightarrow \begin{cases} m=Y \\ m=-1 \end{cases}$$

$$m=Y \rightarrow \frac{|x^Y + Yx - 1|}{Y|x^Y - 1| + |x - 1|} = \frac{|\frac{1}{Y} + 1 - 1|}{Y|\frac{1}{Y} - 1| + |\frac{1}{Y} - 1|} = \frac{\frac{1}{Y}}{\frac{1}{Y} + 1} = \underline{\frac{Y}{1+Y}}$$

$$m=-1 \rightarrow \frac{|x^Y - x|}{-|x^Y - 1| + |x - 1|} = \frac{||+1||}{0+Y} = \underline{1}$$

$$x^Y + (m-Y)x + a^Y \xrightarrow{x=a} a^Y + (m-Y)a + a^Y = 0 \rightarrow m-Y = -a^Y - a \rightarrow m = -a^Y - a + Y$$

$$\sqrt{Y} |ax + a| \xrightarrow{x=a} \sqrt{Y} |a^Y + a| = 0 \rightarrow a^Y + a = 0 \rightarrow \begin{cases} a=0 \quad \text{O O E} \\ a=-1 \end{cases}$$

$$a=-1 \rightarrow m=Y \rightarrow \frac{\sqrt{Y}|-x-1|}{|x^Y + 1|} \xrightarrow{\text{hop}} \frac{-\sqrt{Y}}{Yx^Y} = \underline{-\frac{\sqrt{Y}}{Y}}$$

$$f(x) \begin{cases} x>0 \rightarrow \frac{x^Y + x}{x^Y + ax} \xrightarrow{\text{hop}} \frac{Yx+1}{Yx+a} \xrightarrow{x=0} \frac{1}{a} \\ x=0 \rightarrow \frac{Ya-1}{Ya+Y} \\ x<0 \rightarrow \frac{x^Y - x}{x^Y - ax} \xrightarrow{\text{hop}} \frac{Yx-1}{Yx-a} \xrightarrow{x=0} \frac{1}{a} \end{cases}$$

$$\frac{Ya-1}{Ya+Y} = \frac{1}{a} \rightarrow Ya^Y - a = Ya + Y \rightarrow Ya^Y - Ya - Y = 0 \rightarrow \begin{cases} a=Y \\ a=-\frac{1}{Y} \end{cases}$$

$$a=Y \rightarrow \frac{x^Y + |x|}{x^Y + Y|x|} \xrightarrow{x=\frac{1}{Y}} \frac{\frac{1}{Y} + \frac{1}{Y}}{\frac{1}{Y} + 1} = \frac{\frac{2}{Y}}{\frac{1+Y}{Y}} = \underline{\frac{2}{1+Y}}$$

$$a=-\frac{1}{Y} \rightarrow \frac{x^Y + |x|}{x^Y - \frac{1}{Y}|x|} \xrightarrow{x=-Y} \frac{Y+Y}{Y-1} = \underline{\frac{Y}{Y-1}}$$